6510LVR

Parts Breakdown

V/rled,dbds

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

@\Jcam.hm—\—\—\)a
+

/ |

b A A &

Part ID
251448-1
251448-1
265998-0
763136-3
323685-8
285804-3
211201-7
257053-2
815390-6
156401-1
253139-0
226032-1
221624-1
253077-6
156402-9
263002-9
343693-3
263002-9
911168-6
911188-0
211033-2
241802-7
511795-5
511796-3
211028-5
414292-9
911571-1
633081-5
639309-9
643552-4
191956-9
194971-2
911124-6
421144-7
682502-4
682559-5
664013-1
664064-4
911153-9
651475-2
140512-2
415982-7
650208-2
651352-8
911133-5
687001-1
687002-9
159423-0
188104-9
681617-4
763423-0
411780-7
810231-1
817981-9
265998-0
266001-0

Parts Breakdown

Part Name
SCREW M5X18, NHP1030
SCREW M5X18, NHP1030
HEX SCREW M5X21, 6043D
DRILL CHUCK 10, 6407
SPINDLE, 6510LVR (TYPE 2)
BEARING RETAINER 19-34, 6510LVR
B. BEARING 6002LLB, 6510LVR
RING 15, 6510LVR
NAME PLATE, 6510LVR
GEAR HOUSING, 6510LVR
F. WASHER 8, 6510LVR
GEAR 13-40, 6510LVR
H. GEAR, 6510LVR
F. WASHER 6, 2040
GEAR HOUSING COVER, 6510LVR
RUBBER PIN 4, HR2400
HOOK, 6805BV,T2
RUBBER PIN 4, HR2400
P.H. SCREW M4X40, 6905B
P.H. SCREW M4X60, N9501B
B. BEARING 608LB, 5091D
FAN 58, 6510LVR
ARMATURE, 6510LVR
ARMATURE ASS'Y 115V FOR 6000LR
B. BEARING 627LB, 6510LVR
BAFFLE PLATE, 6510LVR, T2
P.H. SCREW M4X45, 6510LVR
FIELD, 6510LVR, T2
FIELD
BRUSH HOLDER, BO5012K
CARBON BRUSH 75, JR3000V
CARBON BRUSH SET CB-75, JR3000V
P.H. SCREW M4X14, 6402
DUST COVER, 6510LVR
CORD GUARD 8-85, HP2010N
CORD GUARD 8, 6824
CORD (2X18X8 SJT), N9501B
CORD (2X18X8 SJ), HR2400
P.H. SCREW M4X28, JR3000V
SWITCH
N/A
HANDLE COVER, 6510LVR
SWITCH,6510LVR,6302H
SWITCH, 6510LVR,T2
P.H. SCREW M4X18, N9501B
STRAIN RELIEF, 6013BR
STRAIN RELIEF, 9217SPC
MOTOR HOUSING CPL.,6510LVR
MOTOR HOUSING CPL., 6000LR
INS. WASHER, 6510LVR
CHUCK KEY,6407
KEY HOLDER,6402
N/A
N/A
HEX SCREW M5X21, 6043D
SCREW M5X25, 6510LVR

Page 2 of 2

Quantity

L N N N I T YT Ut Ut U W N IR N e e e @ & R N e N e N N e N N 1 e N N | e e T T I Y |\ S e At U U W W W N . S e e T i YIS U W U

6510LVR

8/18/2010



